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I.  Write an essay of 200 words on ONE of the following. (1x8=8)
1. Write an essay on the political culture that Gandhi advocates.

2. George Bernard shaw discusses the challenges of speaking English
like native speaker. Explain.

Il.  Write an essay of 200 words on ONE of the following: (1x8=8)

1. Write an essay on the obstacles faced by Mrs.Annie Johnson in
her life.

2. Attempt a critical appreciation of the poem * The Road Not Taken’.

lll.  Answer TWO of the following in about 80 words. (2x4=8)

1. How does Marge prince put forth the idea that a sense of
achievement arises from fulfilling one's responsibilities in life?

2. What does Gandhi value most in politics and public life?

3. Leacock’s experiences at the bank.
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IV. Answer SIX of the following in not more than 2 sentences. (6x1=6)
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What made the manager think that leacock was a detective?

Why did the poet choose to travel along the second road.

What positive consequences result from being useful?

How would birds and trees respond to the destruction of mankind?
What does Annie describe as * a new path'?

Why did the members of the staff leave one after the other in the story
“Thank You™?

What does shaw’s wife suspect him of?

What discovery awaits those who renounce everything?

V. Answer the following. (10x1=10)

a).

Fill in the following blanks with the correct word endings.
9. Heisanotor criminal

10. He said that his elderly mother was his only depend
Rewrite the following in plain english.

11. A grain consuming unit.

12. A vertically challenged person

Identify the spelling mistakes in the following sentence given below and
write out the correct spellings.

13. | was taut to need doe and beik Reik
Give the british spelling of the following word:

14. Instalment
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e). Rewrite the following sentences correctly.

15:
16.
1.7
18.

No nook or corner were left unexplored

Fifteen minutes are allowed to each speaker.

The united states have a big navy.

The committee have issued the report
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